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Run 2460, pixel 0

—— event 1001, HG: RO
baseline correction
+ dt corr + corrected spikes
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Run 2460, pixel 0

—— event 1005, HG: RO

baseline correction 550 1
+ dt corr + corrected spikes

---- offset

5007  ---- offset

—— event 1005, LG: RO

baseline correction
+ dt corr + corrected spikes

i __—_-=eL"__':‘:|.=.E‘:\__\F~_--=\__.‘_.r.|__,...,=..r___

time sample [ns]

—— event 1006, LG: RO

baseline correction
+ dt corr + corrected spikes

time sample [ns]

—— event 1007, LG: RO

baseline correction
+ dt corr + corrected spikes

time sample [ns]

—— event 1008, LG: RO

baseline correction
+ dt corr + corrected spikes

300 -
250 -
! ' . 200 — .
0 30 40 0 10
time sample [ns]
600
—— event 1006, HG: RO
baseline correction 550 1
+ dt corr + corrected spikes
---- offset 500 A —--— offset
8 1
S 450
<
miat b 4 st s & nalnbuin i Aaby i et — ik Sl n 4004 -~o= ==
c
-]
S 350+
300 -
250 -
! ' . 200 — ;
0 30 40 0 10
time sample [ns]
600
—— event 1007, HG: RO
baseline correction 550 1
+ dt corr + corrected spikes
---- offset 500 A ———- offset
300 -
250 -
! ' . 200 — .
0 30 40 0 10
time sample [ns]
600
—— event 1008, HG: RO
baseline correction 550
+ dt corr + corrected spikes
---- offset 500 ---- offset
@)
S 450
=
- === | n 4001 - -=
c
)
S 350
300 -
250 -
! ' . 200 — .
0 30 40 0 10

time sample [ns]

time sample [ns]



